IK: - dynabook

PARTS LIST

Model Name:
|_SKUNo [Short]: |

SegNo

01-R
01-R
03

05-C
05-C

08-A

22-A
22
23
24
25
26
27
28
29
30
31
32-A
33
34
35
36
40-A
40-A
41
42
44
45
50
50B
51-A
55
56
60-D
B60A
61
62
65
68
69
73
90-C
AO1

S02
S03
S04
S05
S06

S08
S09
S10
S12

LocNo

X40L-K

PZA11E, PZA13E, PZA15E, PZA17E

ToshibaPN
P000856960
P000856950
P000845910
P000834460
P000843100
P000859370
P000834450
P000845920
P000644720
P000537110
P000554120
P000845930
P000845940
P000855770
P000845970
P000845960
P000845980
P000845990
P000843700
P000846010
P000846000
P000846020
P000859710
P000856970
P000856980
P000856990
P000846050
P000846060
P000846080
P000846070
P000857100
P000847130
P000846090
P000846100
P000772100
P000846110
P000846120
P000802680
P000833710
P000846130
P000846140
P000859020
P000846160
P000846170
P000530560
P000846180
P000859730
P000857000
P000857010
P000857020
P000844980
P000857030
P000846200
P000846210
P000846230
P000846240
P000846250
P000857040
P000853280
P000846270
P000846280
P000846290
P000846300
P000793850
P000846310
P000523000
P000554100
P000824750
P000846320
P000716570
P000714020
P000846330
P000846340
P000763920
P000716560
P000716630
P000769570
P000714030

ODMCODE
A5A004813550
A5A004813540
G33C000AX110
G8BC000CS510
G8BC000CU510
G71C000MS110
G71C000LS310
G71C000N2110
GDM900003015
GDM900001221
GDM900002250
G71C000MV110
G71C000MT110
GM90447740FR
GDM900004269
GDM900004268
GDM900004267
G9BCO006M110
GM9042827341
G61C0005J210
G61C0005H210
G61C0005F210

GDM300000472
GDM300000474
GM9042827351
GM904463311A
G83C000MK310
GDM900004263
GDM900004264
GM904484601X
GM9044595111
GDM900004270
G83C000ML310
GM9042827121
GM9042825251
GM9042830351
GM9042830161
GM9042830291
GM9044583111
GM9044584111
GM904459411E
GM9042830331
GM9044627111
GY4C0002M120
GM9042828671

GM904457811A
GDM900004278
GDM900004277
G86C00086110

GDM250000355
GM904458011A
GM9044636111

GM904458111A
GM904460011A
GM9044755111

GM904457923A
GD9C00017D10
GM9044620111

GM9044582111

GM904460111A
GM9042829141

GM9042990131

GM9043644DA0
GM9021049211

GHOC0001A110
GDM640000718
GDM640000717
GDM640000653
GDM640000652
GDM640000726
GDM640000785
GDM640000699
GDM640000664
GDM640000665
GDM640000679
GDM640000661

PCB
PCB
LCD
SSD
SSD

ADP
ADP
ACC
ACC
ACC
LIB
LIB
KB

HAR
HAR
com
INS
FAN

ETC

SPK
SPK

ETC
i
HAR

cov
cov

com
INS
ETC
cus
cus
cus
cov
cov
cov
cus
HAR
ETC
cus

Categol

MOTHER BOARD ASSY
MOTHER BOARD ASSY

LCD 14.0 FHD

SSD M.2 PCIE 512GB

SSD M.2 PCIE 512GB

AC ADAPTOR 3PIN 65W

AC ADAPTOR 3PIN 65W

AC ADAPTOR 3PIN 65W

AC CORD SET(3WIRE)

AC CORD SET(3WIRE)

AC CODE SET 3PIN

BATTERY PACK 4CELL U30
BATTERY PACK 4CELL U30
KEYBOARD UNIT(FR) BLACK
LCD WITH CAMERA HARNESS
LCD WITH CAMERA HARNESS
LCD WITH CAMERA HARNESS
FA CAMERA

INSULATOR SQUARE
COOLING FAN R

COOLING FAN L

HEAT SINK

SPEAKER ASSY
SPEAKER ASSY
INSULATOR SQUARE
C PAD FACE SHEET
CLICK PAD W/O MYLAR
FFC SYS - CLICK PAD
FFC SYS - CLICK PAD
PW SW FRAME J

PW SW FRAME

W-LAN MAIN ANTENNA
FINGER PRINT MODULE
INSULATOR SQUARE
AL TAPE

GUM CUSHION

GUM CUSHION

GUM CUSHION

HINGE L ASSY

HINGE R ASSY

HINGE CAP

GUM CUSHION
RUBBER HLD HNS
GLASS CLOTH TAPE
SQUARE CUSHION

BASE LTE ASSY

LTE MAIN ANTENNA

LTE AUX ANTENNA

3G/LTE MODULE

SIM TRAY

LCD COVER ASSY

BD TAPE

LCD MASK MYLAR ASSY
CAM SHUTTER

PLATE CAM CONN

COVER ASSY

GASKET

INSU KB

BRACKET C PAD ASSY
RJ45 COVER

GASKET TAPE

INSULATOR SQUARE
NON-WOVEN CLOTH SHEET
CAUTION LABEL

CLEANER CLOTH

SCREW M2X4 FLAT HEAD
SCREW M1.4X2 FLAT HEAD
TSCREW M2X3 3CR
SCREW M2.5X6 FLAT HEAD
SCREW M2.5X3 FLAT HEAD
SCREW M1.2X1.2 FLAT HEAD
SCREW M2.5X4 THIN PAN
G SCREW M2X2.5 3CR

G SCREW M2X2.5SBNI
SCREW M2X2.5 FLAT HEAD
SCREW M2X3 FLAT HEAD

A5A004813550
A5A004813540
NE140WUM-N68
MZVL2512HCJQ-00B07
MTFDKBA512TFH-1BC15ABYY
PA-1650-98TI
A065RP35P-DA01
A0B5RP59P

200-15532

063013/8

102927/8

DGP.S40. 596665-0200
RH5K36140005
AM90447740FR
JSWHCASZ-5500
0CHMYL21159N
MH827
CKFLH3621004910LH
PM9042827341
B6505ASMSF2100TN
B6505ASMNF2100TN
CM0021027101

SNCN-0000113
Qr2812-C-1
PM9042827351
PM904463311A
TM-P3790-001
JSFFCASZ-10145(HF)
JXHQ-PI-1003692
PM904484601X
PM9044595111
AXP6Y-200013
FM-03792-001
PM9042827121
PM9042825251
PM9042830351
PM9042830161
PM9042830291
AM9044583111
AM9044584111
PM904459411E
PM9042830331
PM9044627111
NO.540S8
PM9042828671

AM904457811A
AXPMY-200000
AXP6Y-100026
EM120RGLAU-M21-SGADADY
39136-00003
AM904458011A
PM9044636111
AM904458111A
PM904460011A
PM9044755111
AM904457923A
MF050001(T=2.0)3X5
PM9044620111
AM9044582111
PM904460111A
PM9042829141
PM9042990131
PM9043644DA0
PM9021049211
HRCSBO001
+IM2X4L-D4.5T0.5ZN
+IM1.4X2L-D3.5T0.5BNI
+IM2-0.4*3.0L
YJ-NYGTHICK-M2.5X6BNI
+IM2.5X3L-D4.5T0.5BNI
+IM1.2X1.2L-D3.2T0.35ZN
+IM2.5X4L-D4.8T1.0BNINL
+TM2-0.4*2.5ZN
+IM2-0.4*2.5BNI
+IM2-0.4*2.5BNI-T0.5
YJ-NYGSTHIN-M2X3BNI

VendorPN|



K: ¢ dynabook

DRAWING

Tanzanite10 Rev.00



I: - dynabook

DRAWING

Tanzanite10 Rev.00



